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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statements are true about social reform movement in

Kerala ?

(i) It was initiated and led by the middle class under the influence of western
ideas.

(ii) They had a critical attitude towards traditional institutions, beliefs and social
relations.

(iii) They seldom criticised caste hierarchy.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All of the above (i, ii and iii)

2. Who established Abhinava Bharata Yuvak Sangham ?
A) E.M.S. Namboothiripad B) P. Krishnan Pillai
C) K. Damodaran D) A. V. Kunhambu

3. A list of political events occurred in the 1930s in Kerala wherein women largely
participated is given below. Choose the correct match.
(i) Gandhiji's Constructive Programme — T.C. Kochukutty Amma
(ii) Girl Students Strike at Chalappuram Government School — Jayalakshmi
(iii) Temple Entry Programme — P. M. Kamalavathy
A) All of the above B) Only (i) is correct
C) Only (i) and (iii) are correct D) Only (ii) and (iii) are correct

4. Among the following statements which are true in relation to the event of the Partition
of Bengal ?
(i) Lord Curzon issued the order of dividing the province of Bengal.
(i) It was meant to stem the rising tide of nationalism.
(iii) Indian nationalists did not see the partition as an attempt to divide Indians on
religious ground.
A) All are true B) Only (i) and (ii) are true
C) Only (i) and (iii) are true D) Only (ii) and (iii) are true

5. Among the following statements which are true about the imposition of Emergency

in 1975 ?

(i) It was imposed under Article 352 of the Constitution.

(i) The proclamation of Emergency suspended the federal provisions of the
Constitution and Fundamental Rights and Civil Liberties.

(iii) A series of decrees, laws and constitutional amendments reduced the power of
judiciary to check the functioning of the executive.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All of the above (i, i, iii)

6. Who instituted the land revenue system named Dahsala ?
A) lltutmish B) Sher Shah C) Akbar D) Aurangazeb
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1. Gagarnalev Feps Gi%hsHs QuisbsLd LPM) L6T6U(HLD YDP%HFHHaT6D 615 2 GHRTEHLD ?
() @a1 CpassPw FbseaTHal 6T 24555556V, bHSSBT iTdhSHS M6V
Osm_misliu’ L g wPpnih uflpLSSLiuL L g).
(i) yeuiser urpbLMW BlDIcUeTEISET, BLOLIGESFET LOHMILD FELPF 2 DeYF6T LEF)
Q)LD TFGOT LOGTLILIMTGTED Lo W1 d5 O TGITLY. (15 (b GT 1T

(iii) <youiser 1% aullenFupemmenw 61 iCLITSTeUG Lo HLD @D TP S 6.

A) (i) opmyib (ii) o Bib B) (i) ommyib (iii) o ®1b

C) (i) opmyub (jii) o”Bib D) GoGov 2 _siter gyemesiagiih (i, it LopmyLb iii)
2. 9LB6 LITIS Weud FEISLD GOLOSS e T WTT 9

A) @). e1ib. eTev. BLOLG MLITL" B) 9. @ payewrer LNerenar

C) Gs. snGongyer D) &. ail. GeranmibLy

3. 1930 zaflev Caparmaled BL % TR WD BlFLpeysaner L 19 w6, P 6w O)LIGwTH6T
QupLoeralley LIBIGspmet. FMwmet QLTBSSSms CHiey GlFuiwiaLb.
(i) s1p9BuIeT dHLyTeuLLTeT L L 1D — 19. §). CFTFHEGL 19 LDLOT
(i) Fmevliymib <yaLs LeTafuie Loresstalser CaenevplnissLd — Gleowevr” aLh
(ii)) Gamaded mewpaysd FL L b — L9. 671LD. HLOGTIZ)
A) GoGev 2_6iTer 9)e0cTd g LD B) (i) o ®CLo sflwimesy
C) (i) pmub (iii) o” ®Cro Flwmesteney D) (ii) opmb (iii) or” B Cro Filwimestenay

4. estaumd Mldessailev, GlLmisre LNaleeruyL 6T G\ _LjenL_uwl 2 GSSIeHLD 615/ ?
(i) QuEismey rsTewISens LINSEGLD 2 dgrea HiFeT LNL QeuafuiL_mi.
(i) Q&1 CsPWaITssF T FSMG5H QUBLD VIS &(BHLILISDHTS (Q)(HhSS.
(i) @BHw CsPwaITFHeTQ)BFWTHEETLOS 1 L1 ienL_uiled LINLILISDHSTeT LoD PuiTs
@bz LMallenestenw LiTisHallcvenev.
A) emerggib Fifl B) (i) opmb (i) o ®Cro siwimeseney
C) (i) ommb (iii) o” B Cro FMwimestena D) (ii) wpmub (iii) " ®Cro sflwnesteneu

5. Lereu@pLd oplsemasailev, 1975 @6 9euagplencv 9LoOLIBRSSLILIL L S6) 2 GETeHLD 615 ?
() @& 1L sFer9May352 @)er Gip allBabsLiLL" 1L ).
(i) yeusgBlevev LNTsL_eo1d TFWELDLIL] LPMILD 1qLI1LIeOL_ 2 MELDSET LoPmILD
Faev F55F TBISGTGT Fnl LT F ULpEISE6 BINISFS.
(i) QBT AFRwmesT 26 ewH6T,FL L BIS6T LOHDILD TR WLDLIL] F (5SS BI%6T
Blieunsg & et QFwevLim enL FlLmiss, EHSS5nDUNGT HYBSTISDS HODSBS.
A) (i) wpmb (i) o Bib B) (i) ommyeb (iii) tor” @b
C) (ii) ommyeb (iii) or” (H1b D) GuGov 2 sirer yemarsgid (i, i, iii)
6. FSAUDTFGIT GTGID Bl6v U (HEU T HEOHLOLIGHLI BIMI@INIeu T Wi 9
A) Q@ausLhay B) Gayriragr C) s D) yoyrmis&li
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Among the following combinations which one correctly represents the effects of
World War | ?

A) Collapse of Habsburg Empire, Russian Revolution, United Nations

B) Russian Revolution, United Nations, Revolt of Germany

C) Collapse of Habsburg Empire, Russian Revolution, League of Nations

D) Revolt of Germany, Collapse of Habsburg, United Nations

Read the following statements and then choose the correct answer.
Statement 1 : French Revolution began as an assertion of National Sovereignty.

Statement 2 : The National Assembly in 1790 demanded that France could never
make war except in self-defence.

A) Both are true B) Only Statement 1 is true

C) Only Statement 2 is true D) Both are false

The idea of abandonment of parliamentary democracy in favour of a ‘dictatorship
of the proletariat’ was associated with

A) American Revolution B) French Revolution

C) Russian Revolution D) None of the above

The three pillars of Jawaharlal Nehru's development strategy in post-independent

India were

A) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a mixed economy

B) Planning for rapid industrial and agricultural growth, a public sector to develop
strategic industries, a mixed economy

C) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a capitalist economy

D) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a socialist economy.

Which of the following statement is/are correct about relative humidity ?
(i) How much water vapor is in the atmosphere as a percentage of the maximum
amount possible ?
(ii) Low relative humidity indicates relatively dry atmospheric conditions, while high
relative humidity indicates relatively humid atmospheric conditions.
(iii) The relative humidity is high, less water evaporates from the skin because the
surrounding atmosphere is already relatively moist, leaving the skin surface

hotter.
A) Only (i) and (ii) B) Only (i) and (iii)
C) Only (ii) and (iii) D) All the above (i, ii, iii)

Which of the following are the tributaries of River Periyar ?
1) Mangalapuzha 2) ldamalayar 3) Gayathripuzha
Select the correct answer using the codes given below :
A) 1 and 2 only B) 1 and 3 only
C) 2 and 3 only D) 1,2and 3



10.

11.

12.

096/21 - T

LereupLd CFigenasatev, 618 (LpSeUTLD 2 cvaL1 GLimieT allevareysener Filwnss GBsE DS ?
A) avntievuis Cuurfest Filey, gauw s LTl &), @&Sw b1(h 56T

B) meyw Lo’ &), @@ w prpsern, Glgieuller SevsLb

C) anmievuiis Cuurfer #Mey, papwls 4l &, 606 9,011 Crapereav

D) Qaiweuflen evsLd, anrlievLisfer Filea), @$Hw BTk 56T
L9650 (HLD WS SSHGTLI LIy GG FMwmeTt LB eaws C%ib0lsBSFHa L.
yMsena 1 196)56h% Ly & CasHw @)enpwnessienLoaw eueiynISsI6us s ST BIGS)
MFena 2 : 1790 9y 1b gy ewrig v Lgnestev CF W FL L LDGTDLD, FPHTLILSHTSH ST
@bCungib Cumt QFdiw (g wng ererm Camwg

A) @uesHGio Fiil B) wmlsems 1 " BHGro Fl

C) wplsens 2 o’ BHGuo Fil D) @uew®CGio saumy

‘url Lo UG5S F 6T FiouTHEHTISDD S’ DS TUTH LITTTEHLOGTD S365(BTILISS DD
@&l HLd CursFeer QseyiL 6T O\FTL TLjeOL_ W)

A) 9Qofs% Lo § B) eha o &

C) geyw " & D) Gomampdlwevai e1giaLblevenev

FSBF IO LS Q) bFwralled geaianiewre GphaleT alaTid&Fd B L 5% 6T eLpeiTn

SBITGOTS GIT

A) alevgeunes Qsmiflevgienm LoHMILD aNeuFTw uaTTERSSTesT L L 1AL o, ep GevrLimw
OsThlOFE@aET 2 (FaU TS (5 SETWTT FIeww, 6 FeVLiIL] O LITHATTSTILD

B) allengeunar Ggmiflevgienm opmib aleusFmw auerid@absmear G L 1Al _ev, eLpGevmumu
Qs Tl Eemar 2 (Heurss g ClLITHISHI®D, @(h SLiL] OLIT(HOTTSTILD

C) alewgeunes Qgmifled wPmih aeusFmw eueridRgsmer S 0L e, epGevmiimuw
OB THOF®ET 2 (h6UTHS 615 ST FIOD, R(H (LS TaNSS e O LITHSTTSTILD

D) ale»geumes Qs myflevgienm opmitb aeusFmw euaridE@damet H L 1HL_ev, ep Gevriimw
Qs mflevsemar 2 (FauTds e Sesilwmt Femp, e CFraFadlav(® Gl mpaTTSTILD

L6510 (HLD WIS Haflev 618 FILILIGLD &HDSEH FALTesig
() eualler_wgHev eTaiauarey Hrmal 2 6T TGTLIS B HLILF FI%S W LD T

9a1alley 5655015 () (H% G LD

(i) @eowps FILILSLD RLILTL L aTalle UM EsTL UG LDGRTL 6V 1606V LDFE6TS &M%
Fwal, P FILILIGLD FTLILISLOTET UGHTLDOGRTL GV 56D 6V6H LOFE 6T & MDISH D)

(i) e@Uf’ 1 eralled FILILISLD 9B HLOMS 2 6ToTS, GHODES BT CHmedled () (HHS 24l
Wi, aableresiied &mH M eTar aueh oeTL_evLb INEeTGou @LILfL L araley Ll
ugLors QpLiugrew, Ggredler Guomuriiny OeuliLions () hd @ LD

A) (i) opmiib (i) o B Cro B) (i) opmyeb (iii) o” B CGro

C) (ii) opmyp (iii) o BHCro D) GuwGev 2 airer yemasab (i, i, iii)
LesteumeuesTaupmlev 61g) O\ LIMwim 3 ul 63T %16 68T 5% 5 6iT

1) wEFerLpT 2) @Qrweewri 3) sTwsSHAypT
GG CsrhssLiul’ Gerer @gpluibhseaner @) wbg Filwmret L amew Csip0ls B SHaLb.
A) 1 wpmib 2 " BHGro B) 1 wpmib 3 " HCio

C) 2 wpmib 3 " BHGro D) 1,2 wpmib 3
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13. Match the List — | with List — Il and select the correct answer from the codes given

14.

15.

16.

17.

below.
List -1 List -1l
(Divisions of Himalaya) (Rivers)
a) Punjab Himalaya 1) Sutlej to Kali
b) Kumaon Himalaya 2) Indus to Sutlej
c) Nepal Himalaya 3) Tista to Brahmaputhra
d) Assam Himalaya 4) Kalito Tista

(@ (b) (c) (d)
AVd 2 1 3

B2 1 4 3
c)2 4 3 1
D)1 2 3 4

What are the factors affect the strength and direction of wind ?

1) Pressure gradients.

2) Coiriolis effect.

3) Friction.
Select the correct answer using the codes given below :

A) 2 and 3 only B) 1 and 3 only C) 1 and 2 only D) 1,2and 3

Consider the following statements :
1) Intense seismic activity occurs along convergent lithospheric plate boundaries.
2) Convergent lithospheric plate boundaries, oceanic plates are undergoing

subduction.
Which of the statements given above is/are correct ?
A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2

Which of the following objectives related to the Fiscal Responsibility and Budget
Management Act (FRBMA), 2003 are correct ?

(i) Fiscal deficit is to be reduced to 5% of GDP.

(ii) Complete elimination of revenue deficit.
(iii) Greater transparency in fiscal operations.

A) Only (i) and (ii) B) Only (ii) and (iii)

C) Only (i) and (iii) D) All of the above (i, ii and iii)

Calculate the NNP at factor cost from the following data :

NNP at Market price : Rs. 5,000 crores, Indirect taxes : Rs. 400 crores,
Subsidies : Rs. 200 crores.

A) Rs. 5,600 crores B) Rs. 5,200 crores

C) Rs. 4,800 crores D) Rs. 4,400 crores
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18. ulguwe—Ieorerulgue—Il @ Qurrpsd), G CsThssLiILIL Herer @GnBlui®

safleS)phg Filwnet LB eewsd Csik0)%HEHaLb.

e igued — | uiquev — I
(adwreowr 19Meysa6ir) (BS=6T)
a) uEHFTLI @ilomeowT 1) o Qewgd 1psev Hrafl auenr
b) &CGomesr alomevwr 2) Qe (LpFed FL 6V Guen T
C) Gpumed aflbmevwsm 3) Fevsm psev LNTLDLOLSH IT aueH T
d) y&mb anlmevwm 4) smel LpFed HevsT auen T

(@ () (c) (d)
AVd 2 1 3
B2 1 4 3
C)2 4 3 1
D)1 2 3 4

14. smomler euellenio LoPmILb FenFeni LITHS @G LD STITENEGT WTHe ?

15.

16.

17.

1) 2wpss5an oils5lunsib
2) QsrMCuradev alenaray

3) e gmiigev

G0 CQsmbgsLiLL (Rerer @B e Lt LIRSS Fiwret LBevevs CaibolH\SHaLb :
A) 2 wpmib 3w’ BHGLo B) 1wpmih 3 o HGio

C) 1 wpmib 2 1" RGCio D) 1,2 wpmib 3

LIGTRU(HLD D)% 60 FF 6T &6 6ol L] I 6T

1) amiemwwrer 68gCsmavblLMs L0 eTvemewsaler Faly Blev Fie) CFwewLIT®
apLB® DS

2) garlaenips % CsTav6lLMs 1B eTeveamavser, sL_Grrs L (HS%er @)
F6IT Y19 LIS S5 @& 2L 1L1(HSSL1LI (B F T D 6oT.

Gl ClsTBSsLILIL L Psenssaicy 61g Filwmesig

A) 1 wi" G B) 2 w” ®Cw

C) 1 wpmib 2 Quessr(HLb D) 1 wyevevg 2 Qevenev

BB Gummiiy wopmih L Glggr” Gewneseniod &1 1b (FRBMA), 2003 & mi_irLimesr
L9ereupLd Crrssmisalley 618 FAw Mg ?

(i) P9 upprsGean GDP e 5% 9s GepssLiuL_ o erearg

(i) @Ml LDDISGHEDEOW (LP(LHEDLDWITE b5 E D6V
(i) PP pLaigsmssaiev &% OeuallliLieoL g SaeTenLo

A) (i) wpmib (i) @b B) (ii) opmyib (iii) or” ®1b

C) (i) ommyib (iii) o BHCro D) GuGev 2 itar yeweggihd (i, ii Lommyib ii)
LereupLd GL_nsanedmng srrestl allencvuiey NNP o4 sewrs &) () Big 6T : Fheng allenevulied
NNP : Rs. 5,000 Gsmig, wenpps euifl : Rs. 400 Gsmig, wresflwib : Rs. 200 Gsmig.

A) Rs. 5,600 Gamig B) Rs. 5,200 Gsmig

C) Rs. 4,800 Gsmig D) Rs. 4,400 Gsmig
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20.

21.

22.

23.

24.

25.

The major instruments used by the Reserve Bank of India to control credit include
(i) Bank Rate.
(ii) Variable Reserve Requirements (CRR&SLR).
(iii) Open Market Operations.
Which of the statements are correct ?
A) All are correct B) Only (i) and (ii) C) Only (ii) and (iii) D) All are wrong

Among the major objectives of some Five Year Plans in India, which one is in a
correct (ascending/chronological) order ?

(i) Inclusive growth

(ii) Rapid industrialization

(iii) Agricultural development
(iv) Poverty eradication

A) (iii), (i), (i), (iv) B) (iii), (ii), (iv), (i)

C) (i), (iii), (iv), (i) D) (iii), (iv), (ii), (i)

Nobel Prize for Economics in 2020 was awarded to Paul R. Milgrom and
Robert B. Wilson for their contribution in

A) Improvements to auction theory and inventions of new auction formats

B) Behavioural economics

C) Integrating technological innovations into long run macroeconomic analysis
D) Experimental approach to alleviating global poverty

Which is the portable document format version of the election photo identity card ?

A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC
The bank authorized to issue and encash Electoral Bonds in India

A) Reserve Bank of India B) State Bank of India

C) Union Bank of India D) All the above

The idea of separation of powers implies

(i) That the same person should not form part of more than one organ of the
government.

(ii) That one organ of the government should not control or interfere with the exercise
of its function by another organ.

(iii) That one organ of the government should not exercise the functions of other.

A) (i) and (ii) only B) (i) and (iii) only

C) (ii) and (iii) only D) All the above

of the Constitution indicate that the people of India are the source of
authority behind the Constitution.

A) Article 1 B) The word Sovereign

C) The Preamble D) Part Il

Which of the following is not a classical language in India ?

A) Hindi B) Odiya C) Malayalam D) Tamil
-8-
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ST L (HLILBDSHUSD G @) bHwmalled MFie um %) LIwWeTLBHSHILD (LpSHN % (Hail%6ir
LesTouLomm) :

() eum® a9 s1b.

(i) ) @iy Cseneuser (CRR&SLR).

(i) Dwis FHeS ClFweLITHSHaT.
2 WEFHHallev 618 FHlwTeTs 9

A) emenggb &l B) (i) wopmyib (ii) o Bib

C) (ii) opmyp (jii) o”BLb D) weeaggib saimi

@pHwralley Fev @psTeRT(H P L_mFHaller LpsHw &Bl%CHTaTHaN 618 FMlWTeT %6V
QUMEHFLILILG 2 6iTeTS) ?

() 2 dror_sRw aueTisdd

(i) alewgaumer OsmLleOLoWILDTHS GV

(iii) aYeusFmw euerissd
(iv) aumiewio eprfliiny

A) (iii), (i), (i), (iv) B) (iii), (ii), (iv), (i)

C) (ii), (iii), (iv), (i) D) (iii), (iv), (i), (i)
2020 g41b gy ety ev ClITHeTTSTISH DS TesT CBTLed LM Limed . OevsGymid topmiLb
gruil 19. alevFer 9% Curfer @Q)Bs LBISNLILGSTS aupBISLILIL L %)

A) yPuw erev aug aumiGaileT eTevd CHmLLim( LoPmiLd eIy L1yFefleT GLoLbLim(hser
B) pLgews Oummerigmb

C) Qamflevom” L sessrR g Liysear pewr_gsmevLs O\ Clum@ertsmLt L@LLmiadley

& (15 /51 ) 6 G585 B GV
D) 2 ewsarmailw cupieovenws CLinss, CFisenes 9wl G Lpenm

Gsige0 LienSLILIL 6oL WTaT L 60 L N6 HFHUWIL b ,eUeHT LY QLD LISLIL| 615 9

A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC

@pHwuraller Czigev LGP rmiIsamar QeuallulBeusn@Ld LewTd ClFe s 6uFD LD
Q@)BS UEISGG S BISHTILD O TS

A) @B w Maie eum ) B) wngs avGrL L cumi&)

C) yellwesr Guimbid 9y,0%Ls @)BHwm D) GuGev 2 siTer 96 e1d LD

B saIBISarL LM% @D CurFaat Q)ensd GHDSFH DI
(1) @G pLIT yrFTEISSS 6T Gpetinish @ Copu’ L o pyIseN6T LIGGWITES Q)(BSHH Fnl 5],
(i) <gmBIss B et @b 2 niliL) HODT, 2 il epevLd 9 FesT ClFwe LT L & S (HLI
LI5S CeuT evavg Femevuill Geur gl _1g).
(i) @ypermIssBer p o miLiL) nHw ClFWLITH ST O\ FUILISTn LTS

A) (i) wpmyib (i) o BLb B) (i) ommyib (iii) o ®1b
C) (ii) " @b (iii) or" B CGro D) GuGev 2 aiTer 96618/ LD
9 TF Weven Lo L1965 LN esTeTToD Q)P LS EH T Y B % TS BT 4, F TILO TS
QoLiL®SS GHSFDS-
A) s Beng 1 B) Glarev @)evmwmenren Lo
C) wparayeng D) ua® i

LereupeuateupPlev 615 () b% wralley ©)FLb6)omys) yevev 9
A) @59 B) quwr C) weewmerib D) sip
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30.

31.

32.

33.

34.

The Guahati High Court has jurisdiction over which of the following State or States ?
(i) Assam

(i) Nagaland

(iii) Arunachal Pradesh

(iv) Mizoram

A) (i) only B) (i) and (iii) only
C) (i), (ii) and (iii) only D) All the above

Consider the following and identify the incorrect statement/statements.
(i) The Upper Chamber of Indian Parliament is a permanent house.
(ii) All the members of Rajya Sabha are elected on the basis of proportional
representation.

(iii) Its Chairman is elected from among its members.
A) (i) and (ii) only B) (i) and (iii) only
C) (ii) and (iii) only D) None of these

Fundamental Rights are

(i) Justiciable.

(ii) Absolute.

(iii) Negative as well as positive.
(iv) Amendabile.

A) All are correct B) Only (ii) is incorrect

C) Only (ii) and (iv) are incorrect D) Only (i) is correct

The first Chairperson of the Lokpal

A) Justice Pinaki Chandra Ghose B) Justice Pradip Kumar Mohanty
C) Dr. Indrajeet Prasad Gautam D) Smt. Justice Abhilasha Kumari
Part IX A to the Constitution of India was inserted through

A) 73" Constitutional Amendment B) 74" Constitutional Amendment
C) 72 Constitutional Amendment D) None of these

Which of the following statement is/are correct about POSCO ?

(i) A special law to protect children from offences of sexual harassment.
(i) POSCO is gender neutral.
(iii) In-camera trial of cases.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All the above (i, ii and iii)

Who wrote the memoirs * Solomante Thenichakal’ ?

A) Benyamin B) Justice K.T. Thomas

C) Zacharia D) Justice Cyriac Joseph

In which State of India do you find Dabu printing, which is a mud resistant hand block
printing ?

A) Tamil Nadu B) Karnataka C) Rajasthan D) Gujarat

Which is the second Kerala Art form being included in the UNESCO list of intangible
heritage of humanity ?

A) Mudiyettu B) Kathakali C) Koodiyattam D) Ramanattam
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BLPSHFERTL_ 6153 LDMTHGULD 9JGVGVS) LD THGVEIFEN T 5G] (& 6uTam TS5 2 Wi b LOGTDSF M &
B FMILD 2_6iT6TZ| 9

(I) O FITLD

(i) prsmevmHg

(iii) ympewrmFevls NTCHFLD

(iv) wCG&myib

A) () orGis B) () wogpouih i) eor” G

C) (i), (i) opmyib (iii) o’ @b D) GuGev 2 sirer Sye»eigsiLb

L6 (heUeDSS &(BSH 60 O1H T (H), HaUM TG MWdEHHE W 96 L_WITATLD F TG LD.
() @BSw umTTEBLGEDSZ 6T GLosd D P BISST @)eevLb.
(i) orgw Fumalles 9emargg o miLilestisesb a)FSmFETy LTS BF S51605P 6T 21q L1
e uflev Cib01sBHSSLILIBF D TiFerT.
(i) <yser 2 piiestisal_LOBBSI ST Senavali GHik0lsHSSLILIGR DI

A) (i) wpmiib (i) o Bub B) (i) ommyib (iii) o Bib
C) (ii) opmyp (iii) o HCro D) @eummlev e1g)Lblevemev
YL LILIGHL_ 2 MEHLDFGT 6TGHTLIG

() Plumwuonesia).

(i) wpupembwimesTgy.

(iii) er@iioewm opmib CpiLoem D W TS
(V) BBssssssmal

A) emerg g &l B) (ii) o ® b seummergy

C) (ii) opmyib (iv) " B®Cw saupreremeu D) (i) i ® G sMwresig

Gov s LITEGHT (LhF 6V FeeVeu T

A) 59u% e 5551 Csmay B) 59u% 19081 @Lomi QwransE)
C) st Qu&rgds Lggns GlsensLb D) @wd 59 1% <fevmayt Lo
@BPw rRweveroliler LGS IX A, @ser epevid GlFBsLILIL L g

A) 73 aug rfwewenioliL] FHSSLD B) 74 cug @nFwevenioli) ®pSsLd
C) 72 eugl 9rFuwevenioliL] H (5SS LD D) @eumplev e1g)Lbevenev
POSCO wup) LiesteumLd mléens 61g) Fiilwmesig)

(1) wmeSlwed HGTLNISSD GHDDBISTNOBHSI SGLPHEOSHEGTL LIMSHIH15% 65 FDLIL) FL L LD
(i) POSCO Gl G Bleoev
(i) eups@saiear Caswgm CFrgenest

A) (i) opmyib (ii) o’ BLb B) (i) wopmyeb (i) o’ B b

C) (ii) opmyp (iii) o BHCro D) GuGov 2 ditar yewergdgiihd (i, ii LommyLb iii)
Qo CmuiPer CarevblwearGL Cgeafldadser e1(p B w e wmm 9

A) QueTwiher B) £9u% G%.19. $mpav

C) gsasMwm D) 59 u® filwns Ceorad

LML FF (BSGV LDGWT 6TH) TLIL| ST OGO L_ILI GDHILITED FF (HILD Uen . Q)b w malles
6Th% LDMHVSF 6 LML FFBS6V [bEI%GT HTRTGVTLD ?

A) sLpEI® B) sipm_smr C) mrgevsmesr D) g

1 Glestev C&m Loefls @ s P 6T 9 (heuLomest LmgLb Mg @ et Ll 19 wedlew CFidasL
L perer @) oent_maug GHIGTT H6M6v aLYQILD 6T 9

A) wpQui® B) sssal C) gquwm’ L 1b D) pmwestmi_1b
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35. Which of the following does not form the Right of the Election Commission of India ?
A) Right to allow symbols to political parties
B) Right to set limits on poll expenses
C) Right to decide the schedule of elections
D) Right to decide how many parties can contest in an election

36. Which of the following film won the award for the best film on National Integration
in 2021 ?
A) Maharshi B) Tajmahal C) Asuran D) Pingara

37. Which of the following statements is/are correct of Covaxin ?
(i) Covaxin is India’s indigenous Covid 19 Vaccine.
(i) Itis an Intranasal Vaccine.
(iii) It is developed by Serum Institute.

A) Only (i) B) Only (i) and (ii)

C) Only (i) and (iii) D) All the above (i, ii and iii)
38. ‘Manika Batra’ is associated with which of the following ?

A) Squash B) Billiards C) Table tennis D) Cricket
39. Asura: The Tale of the Vanquished is written by

A) Sashi Tharoor B) Aravind Adiga

C) Anees Salim D) Anand Neelakandan
40. Who started Vala Samudaya Parishkarani Sabha ?

A) Vaghbadanandhan B) Brahmananda Sivayogi

C) Pandit K. P. Karuppan D) Vaikunda Swamikal

41. The access time refers to the
A) Time required to locate and retrieve stored data
B) Time required to locate the lost data
C) Time required to delete specific data on a certain memory location
D) None of these

42. An example of non-preemptive scheduling is
A) First Come First Served B) Round Robin
C) Last in First Out D) Shortest Job First

43. The network topology in which devices are not linked to each other and where hub
acts as a central controller is

A) Mesh B) Star C) Ring D) Tree
44. Roman number system is a
A) Positional number system B) Non positional number system
C) Both (A) and (B) D) None of these
45. A flow chart is a kind of
A) One dimensional graphics B) Two dimensional graphics
C) Three dimensional graphics D) None of these
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Lesteupeuastauppdled 61a @)bS W Cspigev 2 ementidF et o MenLouledhbs augalevenecy ?
A) rfwed s 5% @hd G F TSRS 6T e0)/L0 PG G LD 2 fleoLo

B) Gsigav 0Feveys@hs @ aurLbLEear Bliesrulld@Lb o Menip

C) Gsiigav 9’ L_aieenteow (Lplg ey GlFuiub o MemLo

D) o Gsigedlev e1ssmart &L Faer GLim’ g uilL_evmib eTeaTLIENS BiLomesfls@Lb 2 MenLo
2021 Qo CaR W HEIFWTLIL|GHTeT DB LIL_SFDHT6aT adl (hens LIesTal (HLD 6ThS
L b Qeuesing ?

A) waifaf) B) sngiwan e C) yager D) misgm
CameunsFest Lpm), LT HLD FnPmIFailed 6% FiilwlTeTdy)

(i) CameursHer @ pHwraller o arpr’ (B Csraill 19 sGHLILS.

(i) @& aps@ auflum CFeSSID 5B LILS.
(i) @& Fyib BlmyeuesidSmed 2 (HeunssLILIL L G

A) (i) @ B) (i) opmyib (ii) o Bib

C) (i) opmyib (iii) o B b D) GuGev 2 airer yewarsaib (i, i, iii)
wef&m ugam Leralpeuetid eteuPd Cnr(® CGmL_iLenL_waeiri 9

A) av@eumay B) evadluwii e

C) G O)_eresflav D) ®Ms6lsL"

&I . CHAP&HIQSHLILIL L QUTHall6T $eng WTITe) 6T(LpSLILIL L G

A) &8 sepii B) <yrailps oygsm

C) yafev #edLb D) a5 BHovasesrL et
UGT F(LpS T Lifausgesi] FLITIS OB ML BISH Wae i

A) gL ekt B) Wyibonetss HeaurGuin®)
C) wessig” Gs. 19. spLiLIGT D) eweu@ e seumdlger

< dheavav GprLd @4 GOSF D).

A) Cshss G ses_mlpg L5165 CsemauliLi®b GruLb

B) @uis GLmsea® 9955 Caenauliuipw Gpaib

C) o @A L plenateus @)L sHev GBI L G 1 Fs55 Caeneuriui®b CpaLb
D) @aummlev ergyidlevenev

(Lp&sTIn 19 Cur 9vevTs S L LOL_a1d& @b THSHIGHTL (B

A) wpsedled aupLIGTS RS S (LpeTeyflens B) geyewrl gmiiesr

C) sev_Gumeeurt wpgadled GleuaflGumy D) wpsedev @mFw Ceuemev

OB Oleuris GLmumevgd), @& 6o F1%esEIS6T 6611 0V (1 L (5 GLD Q) e0eTSELILIL
aflevemev LoPmILb oLl (b eLow L HLILIRSSH wrs ClFwev LI HFmI)

A) Gay B) evimi C) Mmi D) i
GO 6ot 6T6WT e LDLIL] G (1h

A) Blemev 61687 emLoLiL) B) plewev wjcvauns 61687 yemLnLiLy
C) (A) wipuih (B) @ewi D) @oupdes agiheeen

@RL LD INOTESLILIL LD 6(1h 6UGHF WL TG

A) e ufwrest FgrLiseav B) @@ ufwrent &omiisen

C) wpiuMwmesst Fgmiisaen D) @eummlev e1g)Lblevemnev
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46. Indian Space Research Organization, formed in the year

A) 1962 B) 1960 C) 1969 D) 1966
47. World Water Day is on

A) March 24 B) August 8 C) June 7 D) March 22
48. Section 66 A of IT Act 2008 is related with

A) Sending offensive messages B) Hacking Computer System

C) Failure to maintain records D) Using password of another person
49. Serology test is related with

A) Malaria test B) COVID-19 Antibody test

C) Headache D) None of the above
50. Louis Pasteur created the first vaccines for

A) Rabies B) Cholera

C) Anthrax D) All of the above

51. Which term of the sequence 3, 8, 13, 18, ...is 78 ?
A) 17 B) 15 C) 16 D) 14

52. Simplify (0-2)*x0.27

A) 1.6 (03)° B) 16 C) 0.16 D) 160

53. Two numbers are in the ratio 2 : 3. If 5 is to be subtracted from each they are in the
ratio 3 : 5. Find the first number.
A) 20 B) 10 C) 30 D) 50

54. The average of 10 numbers is 12. If we subtract 3 from each number, what is the
new average ?
A) 36 B) 15 C) 4 D) 9

55. If 3* ¥ =2187 and 3**Y = 243, find the value of x.
A) 4 B) -1 C) 6 D) 7

56. Edwin completes a journey in 11 hrs. He travels first half of the journey at the rate of
20 km/hr and second half at the rate of 24 km/hr. Find the distance travelled in km.
A) 200 B) 220 C) 260 D) 240

57. 2 women and 5 men can together finish a work in 4 days while 3 women and 6 men
can finish the same work in 3 days. Find the time taken by 1 man alone to finish the
work.

A) 36 B) 18 C) 38 D) 20

58. A metallic sphere of diameter 5.2 cm is melted and recast into a cylinder of radius 5.2 cm.
Find the height of the cylinder.

A) 20.8 B) 5.2 C) 104 D) 2.6
A -14-
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@B w alessrOlevaf o, TIFS BlmicuaTid @)BF 2,68T(H) 2 (heuTdhSLILIL L G

A) 1962 B) 1960 C) 1969 D) 1966

2 GUS FGHTeHI 1T B GTLD

A) wmig 24 B) <ysev’ 8 C) @9ar7 D) wmig 22
a1y F111b 2008 L9flay 66 A 2 L a1 QFIL_iLjeoL_wg.

A) yerL®SsID O FIBSear 2eiL1L|Bm)

B) GCams & m sewflesl) oyemioLiny

C) uPeysear LTSS Seumwis

D) wpOprmm puMer urevGeumil LweTL () SS5IS

Fgmevgd) Gangem cor 2 1 &1 QST L_w.
A) wCewhlwur ufGsrgenes B) Gsmalll-19 yeirgimg CFrgener
C) samaeual D) GupampPluear 61g1a)LHlevenev
ruilev LimevL_i SHTET (LpS6V &b LILLFFH® AT 2_ (56 TG T
A) Gridev B) smevnm
C) o psumsH6v D) Gopamplweneu ojeners ) m @ Lb
3, 8,13, 18, ... @QBs aullenguilev, 78 6155 TWITCUS| 2, @LD ?
A) 17 B) 15 C) 16 D) 14
4
eTafle® oL 1LI(H S G 0.2)"x0.27
(.03)°
A) 1.6 B) 16 C) 0.16 D) 160

@ et etevwser 2 1 3 ereip ANFSGSFHev 2 ararest. &6 6)eu et @S (B b LD
5197508 Hsa L1 Gauest(hLb 61D Tev, e 3: 5 616D 0BS5S 60 Q) (5 @ LD. (LpFH6V
CTGRTED 68T Fe8oT(HLILg 9

A) 20 B) 10 C) 30 D) 50

10 erevsraaflerr Fngf 12. geiGleunm erewrent|ed)bbaiLb 3 @8 HLH55M60, LG FFme) eT6stant 9

A) 36 B) 15 C) 4 D) 9

37V =2187 wmmib 3**Y = 243 eraflev, X Q)67 oG LIew LIS HewsTL_Pli@ LD,
A) 4 B) —1 C) 6 D) 7

o1 a6t gp(p Liwessisensg 11 wewt] CrusHev (LpLYEFRDIi. D6l LILGHISSH 6T (LpS6D
urgenw Loewts @20 S5 CoussBeiLd, (@) gewtL_meaig LT 24 S5 CerssFey/Lb LIwewTLD
QF1Bpmir.  eui Ngwnessit COF1 HruSens HCwmb L Med ser(h LIy dsayb 9
A) 200 B) 220 C) 260 D) 240

2 Gluewrs @b 5 yesenLd Caibg e@h Couamevenw 4 BTl safled (L& (LpLg uLfLD
<2/Gz Gouemevenw 3 ClLessenid 6 gy ers@rd 3 prLl safled (LpLgds (LpLyuib. 4Gz
Gouenevenw 1 esflger eallwins (1pLyss 1(HsGGLD CrIsamss HessrL_ e Lb.

A) 36 B) 18 C) 38 D) 20

5.2 Q&S ol L_1b QsmewsiL gp 2 Covrsd CGamard o hasLil B, 5.2 Gl&Ld gy mib
Q& meRrL o (FemaTwins LEGTHILD o (KhauTSSLILIBFBDG. Fedenr_Mer o wisensd
F6sT (D LN FFH@LD.

A) 20.8 B) 5.2 C) 104 D) 2.6
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59. Kiran was working in a private financial firm. He invested Rs. 50,000/- at an interest
rate of 12% per annum compounded half yearly. What will be the amount he receives
after 1 year ?

A) Rs. 56,200 B) Rs. 56,180 C) Rs. 55,000 D) Rs. 57,180

60. Nivin buys a watch for Rs. 500 and sells it to Shinoy at 10% profit, Shinoy then sells
it to Jenu at 20% loss and Jenu sells it to Jeevan 10% loss. How much did Jeevan

pay for the watch ?
A) Rs. 484 B) Rs. 396 C) Rs. 384 D) Rs. 480

61. Find the missing term in the series.
3,15, 7, 255, 1028.

A) 45 B) 51 C) 67 D) 63
62. Gun : Bullet : : Chimney :
A) Water B) House C) Smoke D) Air

63. Find the odd one.
1116, 288, 576, 964
A) 964 B) 288 C) 1116 D) 576

64. Inacertain code TEACHER is written as YdJFHMJW. How will the word EDUCATION
be expressed in that code ?

A) JLBHFKNTS B) JHYKFYNES
C) JIZHFYNTS D) JIHZFYNUS
65. If # stands for x, @ stands for +, A stands for + and v stands for —, then find the
value of
6#13A45@ 3v7#12
A) 147 B) 9 C) 150 D) 14
66. Ram is the brother of son of Madhav's son. How is Ram related to Madhav ?
A) Cousin B) Grandfather
C) Grandson D) Uncle
67. A clock seen through a mirror shows 7.10. What is the correct time shown in the clock ?
A) 4.50 B) 5.45 C) 5.50 D) 4.40
68. What is the angle traced by the minute hand of a clock in 35 minutes ?
A) 200° B) 195° C) 170° D) 210°
69. If February 1, 2008 is Wednesday, what day is March 4, 2008 ?
A) Saturday B) Sunday
C) Wednesday D) Monday
70. If Pis the South of Q and R is the West of Q, in what direction is P with respect to R ?
A) South-West B) North-East
C) South-East D) North-West
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F et (5 Sestlwmi B% Blnieuars®ev Couemev OFUIg BSTIT. Seu e H)%E 12%
ol 19 a9955F e yeor aupLsH M@ RS. 50,000/- (Lpg6S® OFuigmi. 1 aupL_sHm@L
& <eurr QLpib O\FTens 6TeTeT6UTS () (hd S LD.

A) Rs. 56,200 B) Rs. 56,180 C) Rs. 55,000 D) Rs. 57,180

Bladlest (b L4 FTI5e0S e 500 &3 1B %) e aflermiis @ 10%wrLg S e allDFp .
aflerml 9% Olgeas@ 20% @ pLiie alp@pri, Clwey s BdaugsE 10%
@uliys@ aIDFD . H19ETISH DG 6T 6T66UaTe| LIGRTLD 0)FT(H)SS M6

A) Rs. 484 B) Rs. 396 C) Rs. 384 D) Rs. 480

Qgmi 3,15, ?, 255, 1023 @)6b srewstiioc GLiTes 67635760 6T &630TL_ Pl Lb.

A) 45 B) 51 C) 67 D) 63

SILILTES) © LjevevL : © Gbesf] :
A) sesieuiT B) af® C) yos D) smomi

Q9% B W TFLD TGS GTGT 60 683575 % GRTL_BUIGLD.
1116, 288, 576, 964
A) 964 B) 288 C) 1116 D) 576

@B GO L @plui 190 TEACHER ereiriens YIFHMJIW eraw s1ps i’ (heirarg.
965 GMiL 190 EDUCATION erasip eumrigens eraieummy GleuafliLi(hib ?

A) JLBHFKNTS B) JHYKFYNES

C) JIZHFYNTS D) JIHZFYNUS

# 6TGTLIGI X @oujLD, @ 6TGTLIGI + @9ujLb, A GTGTLIZI + @UJLD, LOMMILD V GTGTLIGI — @ujLb
@MSSTV , Q)F&T P LI HewisFl(H : 6 # 13245 @ 3v 7 #12
A) 147 B) 9 C) 150 D) 14

g orFelefle waesfleT waheienl w FOFTSIET. FILD LDTSHeUG)L T 616U T
QOGmL_MLjeoL_waeirm 9

A) qain a1 sGsmgget B) srgsm

C) Gupger D) wmomr

R (B HewsTeRTTLY UNGHT eLpGULD LIMTSSLILIRILD $195m7D 7.10 @8 $71°HSDI. $19FT75F 60
ST LU Filwmest GpuLb 6166t 2

A) 4.50 B) 5.45 C) 5.50 D) 4.40

35 BIOL_miFefe $19FMISB 6T BILOIL_& SHWTe SeoT(H LG SHLILIL 1L GHTeSTLD 6T6ITGHT 9
A) 200° B) 195° C) 170° D) 210°
igeum 1, 2008 yser&pevio ereimev, orid 4, 2008 ererer pmeir 9

A) sasfla&lpenio B) @muimmisGipenio

C) ysen&peio D) @mis &ipenio

P erarg Q $@ GsnGs wpmitb R ererigy Q @)er Cuopsnrs @ @ppbsmew, R gLl
Qummgseaiens P erestes eoaFwm@Lb.
A) Qszer-Gom@ B) e -8ips5s C) Oser-SpsE D) e -Gups
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71.

72.

73.

74.

75.

76.

77.

Write the synonym of ‘akin’.
A) Divergent B) Original
C) Similar D) Duplicate

| don’t know if he is coming. Here ifis used to
A) Describe a permanent situation

B) Refer to the past

C) Introduce a comparison

D) To express a doubt

The house is so dirty. | really must clean it. What is the use of the Modal auxiliary ?

A) To express Obligation B) To give Advice
C) To give Permission D) To denote Ability
He a large bill at the shopping centre yesterday.

Choose the correct phrasal verb.
A) run of B) ran out of C) ranup D) ran on

war never solves anything.

Choose the right determiner.
A) Any B) The C) A D) An

The train will arrive at the station at 6.15 PM.

Choose the right adverb.
A) already B) usually C) exactly D) always

Rosa Parks was thrown off the Montgomery bus for refusing to give up her seat to
a white passenger.
Which definition fits the phrase thrown off in the above sentence most appropriately ?
A) To make something move through the air

B) To push something out of your hand

C) To catch hold of someone

D) To make someone fall down suddenly
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80.

81.

82.

83.

They can't decide to travel north south.

Use the right connective.
A) both ... and B) either ... or
C) whether ... or D) neither ... nor

1. I must remember to pack a holiday book.

2. My mum says that we must pack soon.

3. We are going on a holiday to the sea coast.

4. 1 am really looking forward to it.

Rearrange the jumbled sentences in a logical manner.

A) 3,4,2,1 B) 3,2,1,4

C) 2,1,3,4 D) 3,1,2,4

a) The ball hit me straight in the

b) | tried to thread the cotton through the of the needle.
Choose the right word to fit both sentences.

A) head B) face

C) eye D) nail

Great oaks from little acorns grow.

What is the meaning of this proverb ?

A) Making a little effort now saves time later.

B) All great things start small.

C) ltis easy to forget something if you can't see it.

D) Do something over and over again until you do it well.

096/21 - T

Heis a of the old block.

Complete the figurative expression.

A) leaf B) bark

C) root D) chip

In order to travel, you need a passport. , you might need a visa,

immunisation jabs, and fulfil quarantine conditions.

Complete the sentence using the most appropriate connective.
A) in addition B) in short

C) in case D) in spite of
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84.

85.

86.

87.

88.

89.

90.

| have seen her

times this year, but not very often.

Complete the sentence using the right.

A) alittle B) much

C) afew D) many
When | got to the hospital, she (sit) in the waiting room.
Choose the correct tense form.

A) sat B) is sitting
C) was sitting D) will sit

I will wait until | (see) him.

Choose the correct tense form.

A) see B) will see
C) has seen D) saw

| waited nine O’clock and then went home.
Choose the right preposition.

A) during B) after

C) from D) until

You have to take an exam
Choose the right option.
A) passing

C) have pass

My daughter is quite shy.
court.

the course. (pass)

B) to pass
D) for pass

, she is an aggressive player in the badminton

Choose the correct adverb.

A) furthermore
C) necessarily

B) consequently
D) however

Identify the correct spelling.

A) colloquial

C) colloquail

B) coloquial

D) coloquail
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Filwmrest GlLimpenar 61(h S 0)% (LpF %
‘oeuifl’ =

A) SjwpISeD

C) gger

Carigg) o101

FM6V + FGUIDL| =
A) HTeV&FeVLDLY
C) smmHevLbLy

Gwpailed Cerrgams 1(hS 0% LI
A) o gewt]

C) <Laj

TR TG0 FTD 6T(LHSI

Qamipi x

A) pewsTLIT

C) uesaurm

FMwmest QST 615 9
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B) &% rauesr
D) 26513 6V 6sT

B) #mevF&levibLy
D) smeuFFevLdLy

B) <o mewtlwiLd
D) jgFesr

B) afyesr
D) Gsmenyp

A) B LIy yensuwmed @il LjesTed &ewTL g
B) @@Ll LenFwmed aILf) LTew FesTL i
C) G YenFuwmed aILPILIL|esTe) 6Tl %)
D) <L Yensuwmed ailLf) Ljeved STl G

SCLp STESTLIGID M 6T FAWTRTSH| 6T ?
A) Gxim= et
C) G&=e1(nal

B) G&#mr= osesr
D) s7=alenL_

‘First for Feast, last for war’ eres1LI5D @ Q)ewewtiimest LA L1LpGILDTLS) 675 2

A) UBBISS LSl UL 5 LS
B) &#ss1b Gamm Gum@®Lb
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